
Math 102: Final Exam Spring 2008 Answers

1. 2 ln |x| − 1
2 ln(x2 + 2) + C

2. tan4 x
4 + tan6 x

6 + C

3. 9
2

4. sin−1

2 − x
√
x2−1
2 + C

5.
∑∞
n=0

(−1)n+1x4n+1

(2n+1)!

6. a) Convergent by integral test. b) not absolutely convergent. lnn
n > 1

n , for n ≥ 3.

7. Geometric series with r = − 2
3 and a = 4

3 . Converges to 4
5

8. (0, 2]

9. Let {Sn} represent the sequence of partial sums. The series is convergent to L if and
only if limn→∞ Sn = L.

10. θ = 2π
3 ,

4π
3 , A = 10π

3 + 7
√

3
2

11. y = 4x+ 1

12. 13
√

13−8
27

13. 2e2 − 2


